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Input

Explain the plot of Cinderella in a sentence where each word has to begin with the next letter
in the alphabet from A to Z, without repeating any letters.

Output

A beautiful Cinderella, dwelling eagerly, finally gains happiness; inspiring jealous kin, love

magically nurtures opulent prince; quietly rescues, slipper triumphs, uniting very wondrously,
xenial youth zealously.l
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What are a couple of meals | can make with this?

. Based on the items visible in the fridge, here are a couple of meal ideas:

1) Yogurt parfait: Layer yogurt, strawberries, and blueberries in a bowl or
jar. Top with honey or nuts for added texture and flavor.

2) Carrot and hummus wrap: Spread hummus on a tortilla or wrap. Top with
shredded carrots and any other desired veggies. Roll up and enjoy!
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GPT-3.5 GPT-4
Tell me a novel joke about the . Tell me a novel joke about the
singer Madonna. singer Madonna.
. Why did Madonna go to the bank? . Why did Madonna study geometry?
To get a Material Loan! Because she wanted to learn how to
strike a pose in every angle! [, ﬂ
V4

%o|0]A]: NYTimes, 2023
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Imagine an infinitely wide doorway.
What is more likely to fit through it,
a military tank or a car?

Since the doorway is infinitely wide,
both the military tank and the car

can fit through it without any issues.

The width of the doorway is not a
limiting factor, so any object of any
size, no matter how big or small,
can pass through it. However, the
height and length of the objects
could potentially be a limiting factor
if the doorway has a finite height or
length.

%0]0]X]: NYTimes, 2023

GPT-4

. Imagine an infinitely wide doorway.

What is more likely to fit through it,
a military tank or a car?

Both a military tank and a car would
fit through an infinitely wide
doorway since ‘infinitely wide'
means that the doorway has no
limits to its width.
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* MIT Technology Review, GPT-4 is bigger and better than ChatGPT—but OpenAl won’ t say why,
2023.3.14.0
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